C:# Comparing Weights (Metric) Name:

Use<, >or =to comparetheweights.

/ 5grams < 3kilograms

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.
In the exampl e above 3 kilogramsis more
than 5 grams. Thisis because 3 kilogramsis
\_ 3,000 grams.

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilogramsis

/

2,000grams = 2kilograms

equal to 2,000 grams.

N

D) 7,716 grams 7 kilograms
3) 138grams  9kilograms
5 969grams  10kilograms
) 5576grans 10 kilograms
9 7,590grams  2kilograms
11) 4,000grams 4 kilograms
13) 7,167 grams 7 kilograms
15 2,204grams  3kilograms

17) 5,720 grams 5 kilograms

19) 9,691 grams 10 kilograms

2)

10)

12)

14)

16)

18)

20)

240 grams 5 kilograms

6,505 grams 6 kilograms

887 grams 4 kilograms

4,496 grams

5 kilograms

5,436 grams 5 kilograms

7,547 grams 8 kilograms

5,048 grams 5 kilograms

3,000 grams 3 kilograms

9,607 grams 10 kilograms

7,620 grams 2 kilograms
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Comparing Weights (Metric) Name: Answer Key
Use<, > or =to comparetheweights. Answers
/ 5grams < 3kilograms 2,000grams = 2kilograms \
Kilo means 1,000. So akilogram is the same 1 >
thing as 1,000 grams. In the exampl e above the two amounts are the
In the example above 3 kilograms is more same weight. Thisis because 2 kilograms is 5 <
than 5 grams. Thisis because 3 kilogramsis equal to 2,000 grams. '
\_ 3,000 grams. ) . -
1) 7,716 grams > 7 kilograms 2) 240grams < 5kilograms
- - 4, >
5, <
3 138grams < 9kilograms 4) 6,505grams > 6 kilograms
6. <
5 969 grams < 10 kilograms 6) 887 grams < 4kilograms 7 <
8. <
7) 5576grams < 10kilograms 8 4,496 grams < 5kilograms o >
10. >
9 7590 grams > 2kilograms  10) 5436grams > 5kilograms
11. —
: _ 12. <
11) 4,000grams = 4kilograms 12 7547 grams < 8kilograms
13, >
13) 7,167grams > T7kilograms 14 5048 grams > 5kilograms 14, >
15. <
15 2204grams < 3kilograms 16 3,000grams = 3kilograms . _
17. >
17) 5720grams > 5kilograms 18 9,607 grams < 10 kilograms
18, <
<
19) 9,691 grams < 10kilograms 20 7,620grams > 2 kilograms o
20. >
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